ANSWER, FIND, AND SHADE

CONVERTING CAPACITY ANSWERS
METRIC SYSTEM OF MEASUREMENT
Convert the measurements. HELP
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425 \/g3 f 1 kiloliter (kl) = 1,000 liters (1)
97 29.7 93 5
SN 4 425\
48
206), /SV/ S 800
QRS
0.3
7.2
156 /93 @
S \4 29.1 )
@b a
3,500 X29.1/5 e
48 Y W~ 230 48 »
230 W gfbb‘% & E.?)
52.4 2,000 5o\ 6 5\g7 =
2.06 48/N 4 ® 52.4 5
7.2 A 425 0 ®
7_2 845\%“» ) )
8451156 5,000 0.3 93 % Note: Answers are in decimal form.
L 051= 500 mi 9. 15,600,000 ml = 15.6 ki
2 0.023kl= 2,300 cl 10. 0.081 = 8 cl
8. 3,480 ml = 3.48 I 11. 42.5dl = 4.25 I
4. 52,400cl= 0524 12. 0.0097 kl= 9,700 ml
5. 48 | = 4.8 dal 13. 0.0035 hl = 3.5 dl
6. 300 cl = 3 I 14. 0.072 kl = 72 I
7. 29101= 2.91 ki 15. 2,060 = 20.6 hl
8. 8,450 ml = 84.5 dl 16. 0.93cl = 9.3 mi

MATHCRUSH.COM

LEVEL 2



	Sheet1

